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Science -60M
1) Every in the solar system revolves around the sun along a specific path.
a) Satellites b) Stars c) Dwarf d) Planet
2) Moonisa___ oftheearth.
a) Planet b) Star c¢) Dwarf d) Satellite
3) have their own light.

a) Planets b) Asteroids c) Stars d) Satellite



4) Rakesh Sharma became the first Indian astronaut to go into space in
a) 1980 b) 1984 c) 1999 d) 1988
5) Which bodies are known as heavenly bodies ?
a) Sun b) Moon c) Stars d) All the above
6) Asteroid are placed between
a) Mars & Jupiter b) Jupiter & Saturn ¢) Venus & Mercury d) Neptune & Pluto
7) The two equal parts it makes of the earth are called .
a) Moon b) Satellite c) Asteroids d) Hemisphere
8) How many days a leap year has ?
a) 365 b) 366 c) 364 d) 363
9) During 22 March to 23 September,which seasons is there in southern hemisphere ?
a) Summer b) Winter c) Rainy d) None of these
10) The earth rotates from
a) east to west b) west to east ¢) south to north d) north to south
11) An example of abiotic in nature is
a) Sunlight b) Mineral c) Precipitation d) all the above
12) Following which is not living things ?
a) Animal b) Plants c) Rocks d) Fungi
13) Living animals are part of this earth sphere.
a) Lithosphere b) Hydrosphere c¢) Atmosphere d) Biosphere
14) It is not part of food chain that links other three animals.
a) Insects b) Frog c) Snake d) Lion

15) They use carbon dioxide in the air to make their food.

a) Animal b) Plants c) Birds d) Fish
16) Living things use from the air for breathing and give out carbon dioxide gas.
a) Carbon dioxide b) nitrogen C) oxygen d) none of these

17) The height of land is measured from

a) Nearest riverfront b) Sea level c) Nearest airport d) Nearest highway
18) The symbol shows below used in map represent :PO

a) Post office b) School ¢) book shop d) police station
19) The person who makes maps is called.

a) photographer b) cartographer ¢) cinematographer d) sketch graphic
20) We get all sorts of through television channels and the internet.

a) information b) resorts ¢) instruction d) data



21) uses artificial satellites to broadcast information.
a) newspaper b) magzines c) radio d) book

22) Artificial satellite are called.

a) ACTBM b) INSAT c) MTVER d) none of these
23) Konkan lies in part of India.
a) southern b) northen C) eastern d) western

24) Rivers which are located in India:
a) Ganga b) Narmada c) Krishna d) all of these
25) The total number of Union Territories in India?
a)5 b) 7 c)6 d)8
26) We must use the public facilities
a) community b) responsibly c) facility d) none of the above

27) What is the basis of rules ?

a) Equality b) Discipline c) Progress d) All of the above
28) When we dry foodstuffs,their content is lost.
a) micro organism b) water c) oil d) warmth
29) When foodstuff are the micro-organisms in them get destroyed.
a) warmth b) dry c) boiled d) cooling
30) also known as curing removes moisture from foods like meat.
a) pickling b) freezing c) salting d) boiling
31) _ isthe example of non-renewable natural resources
a) Water b) Solar energy c) Crops d) Coal and petroleum

32) The Chipko movement was originated in_____district of Uttarkhand
a) Harridwar b) Dehradun ¢) Champawat d) Chamoli
33) Van Mahotsav includes
a) Planting and protecting trees b) Destruction of trees should be curtailed
¢) Restoration of green cover d) All the above
34) Forest Conservation Act was established in
a) 1952 b) 1988 c) 1980 d) 1970
35) The Wild Life Protection Act was established in.................
a) 1952 b) 1972 c) 1980 d) 1970
36) Which of the following is a fossil fuel?
a) Tar b) Coal c) Petroleum d) All the above



37) Soil erosion can be prevented by

a) Afforestation b) Deforestation c¢) Over growing d) Removal of vegetation
38) Green House effect refers to

a) Cooling of earth  b) Trapping of UV rays c¢) Warming of earth d) Cultivation of plants
39) Global warming will cause the following problem

a) Melting of glaciers b) Raising of ocean level  ¢) Sinking of islands  d) All the above
40) Common energy source in village is

a) Coal b) Biogas c) Elecrticity d) Wood and animal dung
41) Jim Corbett National Park was established in

a) Uttar pradesh b) Tamil Nadu ¢) Gujarat d) Uttarkhand

42) Soil erosion is caused by

a) Deforestation b) Farming and mining c¢) Overgrazing by cattle d) All the above
43) is used for generation of electricity
a) Tar b) Coal c) Petroleum d) All the above

44) Biogas is otherwise called as
a)Vermi gas b) Methane c) Gobar gas d) Gobal gas
45) The fossil fuel is extracted by a technique called
() Hydro energy (b) Hydraulic fracturing (c) Hydraulic fraction (d) Hypodrilling fraction

46) Earth*s surface is covered with nearly of water.

(@) 70% (b) 74% (c) 72% (d) 73%
47) is very essential for a healthy environment
a) CO2 b) 02 c) H20 d) All the above

48) Regulation of environmental equilibrium is successfully achieved by
a) Forest resources b) Water resources ¢) Food resources d) Land resources

49) The peace, prosperity and happiness to mankind which is given by

a) Forest resources b) Water resources ¢) Food resources d) Land resources
50) Minimum area of forest required to maintain good ecological balance is %
a) 30% b) 33% c) 35% d) 40%

51) Deforestation leads to reduction of

a) Rain fall b) soil erosion c¢) Ground water depletion d) All the above

52) Instrument used to measure earthquake is known as

a) Seismograph b) Quake graph ¢) Quake meter d) Typanicgraph



53) When did tsunami hit in Tamil Nadu
a) 2000 b) 2002 c) 2004
54) The word Tsunami has been derived from
a) Greek word b) Latin word c) Japanese word
55) Example of Primary consumers
a) Rabbit b) Frog c) Snake
56) Secondary consumers deriving their energy from__
a) Producers b) Herbivores c) Tertiary consumers
57) Examples of Omnivores
a) Elephant and Camel b) Frog and small bird ¢) Fox and Lion

58) Ecosystem is smallest unit of

a) Biosphere b) Lithosphere c) lonosphere
59) The biodiversity is more at regions
a) Polar regions b) Equator regions c) In both regions

60) Biodiversity is very essential for the health of

a) Atmosphere b) Hydrosphere ¢) Lithosphere

Mathematics
61) Place value of 7 in 57930 is
(a) 700 (b) 700 (c) 70,000
62) Successor of 586728932 is
(a) 587628933 (b) 586728933 c) 586728931
63) Greatest 7-digit number is

(a) 9989999 (b) 9999999 (c) 1000000
64) MMC =

() 2100 (b) 2001 (c) 2500
65) LXIX =

(a) 67 (b) 69 () 79

66) 1234 rounded off to the nearest ten is
(a) 1300 (b) 1200 (c) 1235
67) 789,221 rounded off to the nearest ten thousand is
(a) 800,000 (b) 700,000 (c) 790,000
68) 26 rounded off to the nearest ten is

(a) 30 (b) 20 (c) 10

d) 2005

d) French word

d) All the above

d) From the all

d) Man and Rat

d) Mesosphere

d) None of the above

d) Biosphere

d) 7000

d) 587628931

d) 9999899

d) 2010

d) 77

d) 1230

d) 780,000

d) 2



69) 4,15,158 + 10,000 =

(a) 4.15158 (b) 415.158 (c) 41.5158
70) 549 x 1,00,000 =

(a) 54900 (b) 54900000 (c) 540900
My zis_

(a) Proper fraction (b) Improper fraction  (c) Unit fraction

72)8x8-6x%x8=

(a) 28 (b) 16 (c) 38
73)8-0=+5=

(a) 10 (b) 12 (c)8
74) 15 + 3 x 7 + 14 — 3 x (1+5)

(a) 31 (b) 21 (©) 4
75) 12345 is divisible by —

(a) 4 (b) 2 (€3
76) (8+7) = (3+2)

(@5 (b) 3 (c)2
77)7+(10-3) =

(@0 (b) 1 (© 2
78) 2754 x 8039 = 8039 x

(a) 2754 (b) 8039 ¢) 3720
79) 695 x 30 =

(a) 20085 (b) 20850 (c) 21085
80) One fifth of a million =

(a) 5 lakh (b) 2 lakh (©) 1 lakh

General Knowledge- 20Marks

81. What is the launch date for Chandrayaan 3 mission?

A) 24 July 2023 B) 14 July 2023 C) 13 July 2023

82. The Chandrayaan 3 mission’s rover is known as
A) Vikram B) Bheem C) Pragyaan
83. The mission life of the Lander and Rover equal to
A) 14 Earth Days B) 24 Earth Days C) 16 Earth Days
84. Which launcher is used for Chandrayaan-3?

A) GSLV B) LVSM C) GSLV-MKk3

d) 415.158

d) 5499000

d) none of these

d) 27

d) 11

d) 12

d) 6

d)7

d)3

d) 5734

d) 21805

d) 3 lakh

D) 04 July 2023

D) Dhruv

D) 12 Earth Days

D) PSLV



85. The mission objectives of Chandrayaan-3
A) To demonstrate Rover roving on the moon and
B) To demonstrate a Safe and Soft Landing on Lunar Surface
C) To conduct in-situ scientific experiments.
D) All of the above
86. How much did the Chandrayaan 3 mission cost?
A) 1200 Crores B) 960 Crores C) 600 Crores D) 540 Crores
87. What is the total weight of Chandrayaan 3?
A) 4,100 kilograms B) 3,900 kilograms C) 2,190 kilograms D) 5,200 kilograms
88. What is that one thing in Chandrayaan 3 and not in Chandrayaan 2?
A) Laser Doppler Velocimeter (LDV) B) Laser-based Interferometry
C) Ultrasonic Doppler methods D) Molecular Tagging Velocimetry
89. Which of the following is missing in Chandrayaan 3?
A) Rover B) Lander C) Orbiter D) None of the above
90. Who is the director of the Chandrayaan 3 mission?
A) Veeramuthuvel B) M Vanitha C) Ritu Karidhal D) K. Sivan
91. Where will Chandrayaan 3 land on the moon?
A) Near the South Pole B) Near the North Pole
C) In the equatorial region D) None of the above
92. What is the landing schedule for Chandrayaan 3?
A) August 29, 2023 B) August 25, 2023 C) August 23, 2023 D) August 24, 2023
93. How did Chandrayaan-2 welcomed Chandrayaan-3?
A) Hello Buddy! B) Hi Buddy! C) Welcome Buddy! D) Hey Buddy
94. Who is the Rocket Woman Behind Chandrayaan 3 Mission?
A) Moumita Datta B) Ritu Karidhal C) Nandini Harinath D) Tessy Thomas
95. What name is given to the Chandrayaan 3 landing spot?
A) Shiva-Shakti Point B) Shiva-Parvati Point C) Shiva-Shambhu Point D) Shiva-Bhakti Point
96. Which chemical element is found on Chandrayaan 3?
A) Titanium B) Sulphur C) Magnesium D) Chlorine
97. What is the launch date for the Aditya L1 Mission?
A) 14 August, 2023 B) 23 August, 2023 C) 2 Sept, 2023 D) 22 Sept, 2023
98. Who is launching the Aditya L1 Mission?
A) ROSCOSMOS B) NASA C) ISRO D) European Space Agency



99. How long the spacecraft will travel under the Aditya L1 mission?
A) 3.5 million kilometres B) 4.5 million kilometres
C) 2.1 million kilometres D) 1.5 million kilometres
100. Aditya L1 mission will observe:
A) Photosphere B) Chromosphere
C) Outermost layers of the Sun D) All of the above
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